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QUESTION 1
A customer would like to automate the diskpart.exe command to import and activate suspended Shadowlmage

secondary volumes in a Windows CCI script. Which diskpart.exe subcommand should be used to scan for new disks on
the recovery server prior to mounting the secondary volumes?

A. qry

B. scan
C. query
D. rescan

Correct Answer: D

QUESTION 2

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB?

A. This is a TrueCopy LUSE status of a pair suspended error.

B. This status indicates that the TrueCopy pair is in the initial copy.

C. One or more LDEV pairs are SMPL on a TrueCopy LUSE volume.

D. The status of the TrueCopy software LUSE volume is in the initial copy.

Correct Answer: C

QUESTION 3

What are two purposes of a TrueCopy Asynchronous Consistency Group? (Choose two.)
A. It controls multiple volume pairs as a single entity.

B. It provides a real-time copy of the P-VOL on the S-VOL.

C. It allows priority to be assigned to a group of volume pairs.

D. It ensures data is written to the S-VOL in a consistent manner.

Correct Answer: AD

QUESTION 4

A customer is replicating data between sites using Universal Replicator. They are using CCI at each site running on
Solaris servers with korn shell; both CCI servers are also used to control Shadowlmage pairs on each array. The CCI
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device group is named UR_db01 and each server is using the horcm2 daemon for the Universal Replicator pairs. Which
two sets of commands will set the correct parameters and display the status of the Universal Replicator pairs in the CCI
device group? (Choose two.)

A. pairdisplay -g UR_db01 -IM2

B. pairdisplay -g UR_dbO01 -IH2

C. unset HORCMINST; export HORCC_MRCF=2; pairdisplay -g UR_db01

D. export HORCMINST=2; unset HORCC_MRCEF; pairdisplay -g UR_db01

Correct Answer: BD

QUESTION 5

A customer has a number of applications on different operating systems. These applications require fail-over capability.
The customer has chosen the appropriate cluster technology for each platform. With which two cluster types is Hitachi
Data Systems allowed to integrate? (Choose two.)

A. Sun Cluster

B. MetroCluster

C. Veritas Cluster

D. Continental Cluster

Correct Answer: AC
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